c O O O

TLP645G

¥z &
Em
RPN B3
VY FXRTF— MU L—

A4 uvFrr/BR

TLP645G (L, 74 P4 ) A& & Gare FEARKEFA1 4 —

FAXES XL 6PIN DIPNw X =D 7+ BT 53T

R
HABEEMREEE - 400V (&)
PY#H LED EJ: loma (HK)
£ IRER : 150mA (K )
& #& it E : 5000Vrpg (&N
SERBRI 7 A 1 55/150/21
B e B : somm (&)
Z= ] PR OB Pn3mm ()
HEEE

% 2

TR ) P —=T71

%1 : VDEO11l0, table 4 [C¥#

% 2 ! VDEO110, table 3 iCHE#

RALED+ A RYT1URS

]
BAF o mm
6 5 4
o B e B
<H
o
C
|
1 2 R
864+ 025 7.62

5

[¢0)
w
Slml [ T
| 02
=
-
= | 785~ 880
2.54 | o3
JEDEC —
EIAJ —
L -2 11-9A1
EyEaR

* 1

: 500Vac,/7600Vdc, Vﬁﬁﬁ T —T7C

z [

10 16
2 l:3 15

4

4

ST/ -
S hY—F
DB L
R
ST/ =K

D= b




———————————————— TIP6456

BXER (Ta=25C)

I g B 5 E ® BOfI
iz} It ] B i I 60 ma
H &K ‘ B B W B ® X (Ta=39°C) 415/C -0 mAC
o X B B i (10048 ¥R, 100pps ) Ipp 1 A
E b # E E g 5 v
& = = B B Ty 125 T
A B E B + ZE E ( Rgg = 27k() VDRM 400 v
+ A =] # z 53 ( Rgg = 27kQ) VRRM 400 v
% 4 2 e -1 A I7(RMS) 150 mA
®£ % B B /X K W £ (Ta=25TC ) 417/C - 20 mA/C
% v 2 R B %K (1008, R, 120pps ) Itp 3 A
| A E 1Y 4 7 vy - v B R IrsM 2 A
& A - B B - b % E Vau 5 v
B & # & ;-4 Ty 100 C
3 P B B Tstg -55 ~ 125 T
. 3 & i:3 Topr -556 ~ 100 T
¥ ;2 R B (10®) Tso1d 260 €
% & it E (aAc, 1%, REZX60% ) BVg 5000 Vrms
WeZWIERMH
H B B 5 BN | BB | R K| B fL
fiE - H L E Vac - - 120 Vac
=} -1 it Ip 15 20 25 mA
1] 13 B 3 Topr -£25 - 85 c
F— b - h V- FHE K Rgg — 27 33 k0
H e b o7 — FEE & Cak - 6ol 01 AT



TLP6456 —

N I
BAREE (Ta=25C)
B B iz F B F £ ¥ g RE R BN
% [ K -4 E Vg Ip=10ma 1.0 115 1.3 v
¥ b1:2) E b Ir VR =5V — —_ 10 #A
LU + 4 b4 B Cr V=0, f=1MHz — " 30 - pF
Vag=400V, Rgg=27k( - 10 | 5000( na
# A B R &® h B i IpRM VAK =400V, Rgg=27kQ
, — 1 100 HA
Ta=100"C
2
Vga =400V, Rgg=27kf — 10 | s000| na
¥ A B ¥ ® IrrRM Vga =400V, =270
KA Hax - 1] 100 BA
x Ta=100C
A # I E E B T VM Igy=100ma - 0.9 13 v
TS FF g i Ig Rgg =27k - 0.2 1 mA
E ® E £E A E | dv/at Vagx =280V, Rgg==R7% 5 10 - V/ue
V=20 T/ =F b - 20 -
i + il B B Cj PF
T = 1MHz et AY—F | — 350 | —
AN (Ta=250)
H B & B wMoE %« # B R®| R K| EREA
b 9 #H LED b Ipr Vag =6V, Rgg=27kQ - 4 10 mA
Ip=30mA, Vaa=50V
F - v & v B fidi ton - 10 - “s
Rgg =27kQ
& & dv/dt | dav/dt Vg=500V, Rgg =27k 500 — - V/u8
A K O M O#¥ # ;¥ Cg Vg=0, f=1MHz - (%] - D
i # % fi| Rg Vg=500V 5x10* 101 - Q
AC, 1% 5000 - -
Vrma
# % i E BVg AC, 18 - 10000| —
bc, 1% - 10000 - Vac




